BIOLOGY

MCQs Class 9 Science Chapter 13: Why Do We Fall 11l

Q1. You are aware of Polio Eradication Programme in your city. Children are
vaccinated because

(a) Vaccination kills the polio causing microorganisms

(b) Prevents the entry of polio causing organisms in the body

(c)It creates immunity in the body

(d) All of above

Answer/ Explanation

Q2. Making anti-viral drugs is more difficult than making anti-bacterial medicines
because

i. Viruses make use of host machinery

ii. Viruses are on the border line of living and non-living

iii. Viruses have very few biochemical mechanisms of their own
iv. Viruses have a protein coat

Choose the correct option among the following:

(a) (i) and (iii)

(b) only(iii)

(¢) (ii) and (iv)

(d) only(iv)

Answer/ Explanation

Q3. Many of the people suffer from the problem of acnes and feel annoyed of the
ugly skin texture caused due to the acne spots. Can you guess the microorganism
causing these acne?

(a) HIN1 virus

(b) Trypanosoma

(c)Leishmania

(d) Staphylococcus

Answer/ Explanation



Q4. If you live in an overcrowded and poorly ventilated house, then you may
suffer from which of the following diseases?

i. Cholera

ii. AIDS

iii. Air borne disease

iv. Cancer

Choose the correct option among the following:
(a) (i) and (iii)

(b) (ii) and (iii)

(c) only(iii)

(d) only (iv)

Answer/ Explanation

Q5. Antibiotics are ineffective against the viral infections. For each type of the
viral infection, human body produces its own antiviral protein that is released
from the infected and dying host cells. What is this protein called?

(a) Interferon

(b) Leishmania

(c) Ascaris

(d) Pertussis

Answer/ Explanation

Q6. Cancer is a disease caused due to the uncontrolled growth of tissues in any
part of body. This disease comes under which of the following types?

(a) Congenital disease

(b) Infectious disease

(c)Non-infectious disease

(d) None of these

Answer/ Explanation



Q7. The main symptoms of the HIV-AIDS infection are due to the fact that
patient’s body can no longer fight off many minor infections and hence becomes
the reason of the patient’s ultimate death.

This happens because:

(a) HIV virus alone causes all the infections

(b) HIV virus releases a poison in the body

(c) HIV virus damages the immune system of the body

(d) HIV virus directly attacks the human nervous system

Answer/ Explanation

Q8. Tuberculosis is a disease which spreads from one person to another directly
or indirectly is diagnosed with the help of a protein extracted from a bacterium
called Mycobacterium tuberculosis which also causes the disease. What is the
name of this protein?

(a) Tuberlysis

(b) Rifampicin

(c) Cephalosporin

(d) Tuberculin

Answer/ Explanation

Q9. Cholera is an infectious, fatal disease caused by the bacterium which lives
and multiplies in the small intestine. The disease sometimes occurs in epidemic
form. Which of the following is not a reason for the spread of the disease?

(a) Breeding of the flies on the garbage heaps

(b) Use of spices in food

(c¢)Drinking the contaminated water

(d) Consuming the contaminated food

Answer/ Explanation



Q10. For the prevention of the dehydration, the patient is advised to take Oral
Rehydration Solution (ORS). The main components of ORS solution are:

(a) Sodium chloride, sodium bicarbonate, potassium chloride, glucose, sucrose
and water

(b) Sodium chloride, sodium carbonate, potassium chloride, glucose,sucrose and
water

(c)Sodium carbonate, sodium bicarbonate, potassium chloride, glucose,sucrose
and water

(d) Sodium chloride, sodium bicarbonate, potassium chloride, glucose,sucrose
and water

Answer/ Explanation

Q11. TAB-vaccine is used to provide immunity against Typhoid for a period of
three years.What is the correct abbreviation of TAB?

(a) Typhoid-Paratyphoid A and B Vaccine

(b) Typhoid-Partialtyphoid A and B Vaccine

(c)Typhoid-Peroxytyphoid A and B Vaccine

(d) Typhoid-Pertyphoid A and B Vaccine

Answer/ Explanation

Q12. Water makes averagely about 60% part of human body and is necessary in
every biochemical reaction occurring in human body. Which of the following is a
disease which is caused due to the loss of water in the body making the patient
seriously ill in a very short time?

(a) Rehydration

(b) Hydration

(c)Dehydration

(d) Hydrolysis

Answer/ Explanation



Q13. Which of the following is an incorrect statement about tuberculosis?
i. [tis caused by Salmonella

ii. [t commonly affects immune system

iii. Bacteria release tuberculin toxin

iv. Patient’s sputum contains blood

Choose the correct option among the following:

(a) (ii) and (iii)

(b) Only (ii)

(¢) (iii) and (iv)

(d) (i) and (ii)

Answer/ Explanation

Q14. Mosquitoes are often seen breeding on the stagnant water. We should not
allow mosquitoes to breed in our surroundings because they

(@) multiply very fast and cause pollution

(b) are vectors for many diseases

(c) bite and cause skin diseases

(d) are not important insects

Answer/ Explanation

Q15. Infectious diseases are the diseases that can spread from infected person to
the healthy person. Which of the following can make you ill if you come in
contact with an infected person?

(a) Genetic abnormality

(b) Blood cancer

(c) High blood pressure

(d) Sneezing and coughing

Answer/ Explanation



BIOLOGY

MCQs Class 9 Science Chapter 13: Why Do We Fall 1l

WORKSHEET-2

1. Which one of the following is not a viral disease?

(a) Dengue

(b) AIDS

(c) Typhoid

(d) Influenza

2. Which one of the following is not a bacterial disease?

(a) Cholera

(b) Tuberculosis

(c) Anthrax

(d) Influenza

3. Which one of the following disease is not transmitted by mosquito?
(a) Brain fever

(b) Malaria

(c) Typhoid

(d) Dengue

4. Which one of the following disease is caused by bacteria?
(a) Typhoid

(b) Anthrax

(c) Tuberculosis

(d) Malaria

5. Which one of the following diseases is caused by protozoans?
(a) Malaria

(b) Influenza



(c) AIDS

(d) Cholera

6. Which one of the following has a long term effect on the health of an individual?
(a) Common cold

(b) Chicken pox

(c) Chewing tobacco

(d) Stress
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7. Which of the following can make you ill if you come in contact with an
infected person?

(a) High blood pressure

(b) Genetic abnormalities

(c) Sneezing

(d) Blood cancer

8. AIDS cannot be transmitted by

(a) sexual contact

(b) hugs

(c) breast feeding

(d) blood transfusion

9. Making anti-viral drugs is more difficult than making anti-bacterial
medicines because

(a) viruses make use of host machinery

(b) viruses are on the border line of living and non-living

(c) viruses have very few biochemical mechanisms of their own

(d) viruses have a protein coat

10. Which one of the following causes kala-azar?

(a) Ascaris

(b) Trypanosoma

(c) Leishmania



(d) Bacteria

11. If you live in a overcrowded and poorly ventilated house, it is possible that
you may suffer from which of the following diseases

(a) Cancer

(b) AIDS

(c) Air borne diseases

(d) Cholera

12. Which disease is not transmitted by mosquitoes?

(a) Dengue

(b) Malaria

(c) Brain fever or encephalitis

(d) Pneumonia

13. Which one of the following is not important for individual health?

(a) Living in clean space

(b) Good economic condition

(c) Social equality and harmony

(d) Living in a large and well furnished house

14. Choose the wrong statement

(a) High blood pressure is caused by excessive weight and lack of exercise.
(b) Cancers can be caused by genetic abnormalities

(c) Peptic ulcers are caused by eating acidic food

(d) Acne in not caused by staphylococci

15. We should not allow mosquitoes to breed in our surroundings becausethey
(a) multiply very fast and cause pollution

(b) are vectors for many diseases

(c) bite and cause skin diseases

(d) are not important insects
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EAST POINT SCHOOL

Dussehra worksheet-1
Chemistry
Class 9

What is molecular formula ? State with example what information can be
derived from a molecular formula.
ii) Write the names of the compounds represented by the followingformulas:
a) Mg(NOs); b) K2SO4 ¢ )CasN3
*i) What is gram molecularmass?
ii) Write the formulas & names of the compounds formed between:
a) Ferrous andsulphideions b) Aluminium and sulphateions
c) Potassium andchlorate ions d) Barium and chlorideions
3. i) Calculate the number of moles for thefollowing:
a. 52 gofHe b) 17 g ofH.0
ii) How many molecules are present in 34 g of ammonia?

iii) Calculate the mass of 0.5 mole of sugar(Ci12H22011).



EAST POINT SCHOOL

Dussehra worksheet-2
Chemistry
Class 9

I.Complete the table given below. One is done for you.

Sl. no | Name of compound Atomicity Formula

Calcium Chloride Triatomic CaCl,

Sodium hydroxide

Zinc oxide

Iron(ll) nitrate

Copper(l) oxide

AN |WIN |-

Hydrogen chloride

Il. Complete the table given below. One is done for you.

Sl. no | Formula of the compound Name of the compound Atomicity

NaCl Sodium chloride Diatomic

NaHCO;

Mg(OH),

K2CO3

PbSO,

AN IWIN (-

AgNO3




COMPUTER
WORKSHEET 1

Q1 Create a PPT on the topic of 10 Indian successful entrepreneur.

WORKSHEET 2

Q1 Explain the different steps involved in EDP process.
Q2 Describe the rewards of entrepreneurship.



Class: IX*® Subject: Social Science (Economics)

Assignment - 1

1) When a person is considered poor?

2) Who are poor in the rural areas?

3) Who are poor in the urban sector?

4) What is one of the biggest challenges of independent India?

5) What kinds of people in India are considered poor?

6) How would you define poverty? Or What are the dimensions of poverty?

7) What are the social indicators of poverty as seen by social scientists?

8) Social exclusion can be both a cause as well as consequence of poverty? Explain.

9) What is the vulnerability of poverty?How it is measured?

Assignment -2

1) Why do different countries use different poverty lines?

2) What do you think would be the “minimum necessary level” in your locality?

3) Why is the calorie requirement of rural areas more than that in urban areas?

4) What is the accepted average calorie requirement in India?

5) How much amount is needed to fulfill minimum calorie requirement in India?

6) What does NSSO mean?

7) How does poverty line vary with time and place?

8) What is the concept of poverty line? How is the poverty line determined in India?
9) Which groups are most vulnerable to poverty?

10) Describe poverty trends in India since 1993.

11)How is inequality of incomes reflected even within a family? Illustrate with an example.




EAST POINT SCHOOL

Reported Speech and Story Writing Worksheet

Reported Speech Worksheet #l

WE SHOOLP
CLEAN THE HOOSE
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Jon asked Garfield
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and that brother
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YOU’'RE
MISSING
SOME
WALLPAPER
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TRYING TO S5AY,
GARFIELDP ?

Garfield added

Jon

Garfield

Class IX




Q2. Read the prompt and weave a story in 120- 150 words. Give a suitable title to the
story.

It was a bright day and you were reading a book in your lawn. Suddenly a man threw a bag in your
garden and ran away. You called him out but...



EAST POINT SCHOOL

Integrated Grammar Worksheet

Class IX

Q1. In each sentence four words are underlined. One of them is incorrect. Pick out the
incorrect words and write them in the answer space against the correct number:

1. Music therapy use music to improve the patient’s health.

2. It is used with individuals of all ages.

3. It helps in curing a variety of medical problems as substance abuse and aging.

4. ltisalso used to improve learning and reduces stress,

Q2. Choose the correct answer and fill in the blanks:

(a) Cars enable you to reach any place you want. , they pose parking problems
in the cities.

(b) I prefer writing

(c) He fell the ladder.

(d) John, as well as his younger brothers, going abroad for further studies.
(e) You’d better take a taxi. , you’ll arrive late.

(f) It’s not a very good job. it’s something to start with.

(@) (i) However(ii) Although(iii) Despite(iv) So that

(b) (i) on(ii) in(iii) by(iv) with

(c) (i) on(ii) out(iii) of(iv) off

(d) (i) is(ii) are(iii) have(iv) been

(e) (i) However(ii) Consequently(iii) Furthermore(iv) Otherwise

(f) (i) Besides(ii) Moreover(iii) On the other hand(iv) But

Q3. Read the conversation given below and complete the paragraph that follows.
Ganga: How did you spend your holidays?

Gautham: I went for cricket coaching. What did you do?

Ganga: | went for the NTSC coaching classes.



Gautham: At least during the holidays you could have enjoyed yourself.

Ganga: | enjoyed going for the coaching classes.

Ganga asked Gautham () ..................... holidays. Gautham said that (b) ...................
Cricket coaching and wanted to know (¢) ................... during the holidays. When Ganga
told him that she had gone for NTSC coaching classes, Gautham told her that she could have
enjoyed herself during the holidays. Ganga replied that (d) .................... the coaching
classes.

Q4. Read the following instructions for making ‘Maggi noodles’ and complete the
passage.

e Boil 500 ml of water in a container.

e Add noodles and taste maker.

e Add finely chopped vegetables after steaming them separately.
e Cook only for two minutes.

e Serve hot.

Firstly, 500 ml of water (1) ................. in a container. After that noodles and taste maker
(2) i Then finely chopped vegetables (3) ................. after steaming them
separately. The mixed stuff is cooked for only two minutes. Then, it (4) ................. hot.

Q5. Write a descriptive paragraph in about 100-120 words on the topic: An Unpleasant
Dream.



EAST POINT SCHOOL
WORKSHEET 1

CLASS IX

Very Short Answer Type questions

Where is Indira point located?

Name the countries which are larger than India.

Name the states sharing border with Myanmar.

Which famous valleys are located in ‘Himachal’.

Where are Kailash and Mansarovar situated?

Which rivers in India flow in rift valleys.

What are the thunderstorms called in west Bengal.

When does the withdrawal of monsoon take place in the northern plains of India.?

L O Nk WD e

Which is the influence area of monsoon?
10. How much rainfall in percentage occurs during a rainy day?

SHORT ANSWER TYPE QUESTIONS

1. What do you understand by the phenomenon of ENSO?
“India is divided into different physiographic units. They highlight the unique features of each
region. Each region complements the other and makes the country richer in its natural
resources” Justify.

3. Where is Arunachal Pradesh located? How is it a befitting for our easternmost state?

Long answer type questions

1. Explain why Ahmedabad and Kolkata are able to see the noon sun exactly overhead in a year,
but not Delhi.

2. Give the difference between the Himalayan peaks and the Peninsular peaks.

3. Monsoons are known for its uncertainties and vagaries . Explain.

Map skills

1. Mark the areas receiving annual rainfall more than 200 cm and below 40 cm on an political map
of INDIA.



EAST POINT SCHOOL
Geography WORKSHEET 2

CLASS IX

Very short answer type questions

In which year did Suez Canal open?

Where are Maldives Islands situated?

Name the states through which Tropic of Cancer passes.
Which hill ranges form the Deccan plateau.

Which is the highest peak of peninsular India.

Name the ancient super continent.

Which is the coldest place of India?

In which season does the heat belt shift towards the north.

L O Nk WD e

Mention the duration of monsoon in India.
10. Which side of mountains remains relatively dry?

Short answer type questions

1. How do pressure and surface winds affect the climatic conditions of a particular place?What
other factors contribute to it?

2. “The Himalayas act as a boon for India” Do you agree ?Give reasons for your answer.

3. Write a short note on dust storms and loo?

LONG ANSWER TYPE QUESTIONS

1. ‘Chennai has got more rainfall in winter than in summer’. Give reason.
2. Distinguish between Western cyclonic disturbances and Tropical cyclones.
3. Differentiate between the Himadri Himalayas and Himachal Himalayas.

Map skills

1. On an outline map of India locate the following
e Satpurarange
e Mountain and hill ranges- the Karakoram, the Zaskar
e Peaks- K-2, Kanchenjunga, Nanga parbat and Anai Mudi



Worksheet?2
Subject-History
Class-9
Topic- Nazism and the Rise of Hitler

Choose the correct answer:-

Question 1.

The Treaty of Versailles (1920) signed at the end of World War |, was
harsh and humiliating for Germany, because

(a) Germany lost its overseas colonies, and 13 per cent of its tervitories

(b) It lost 75% of its iron and 26% of its coal to France, Poland, Denmark
and Lithuania, was forced to paycompensation of & billion pounds

(¢) The western powers demilitarised Germany and they occupied resource -
rich Rhineland in the 1920s

(d) All the above

Question 2.

What was Hitler's historic blunder and why?

(a) Attack on Soviet Union in 1941 was a historic blunder by Hitler
(b) He exposed his western front to British aerial bombing

(¢) The Soviet Red Army inflicted a crushing and humiliating defeat on
Germany atStalingrad

(d) All the above

Question 3.
Why did Helmut’s father kill himself in the spring of 19457



(a) He was depressed by Germany’s defeat in Second World War

(b) He feared that common people would mishandle him and his family
(¢) He feared revenge by the Allied Powers

(d) He wanted to die because of the crimes he had committed during Nazi

rule

Question 4.

Which of the following bodies was set up to try and prosecute the Nazi war
criminals at the end of World War 11?

(a) International Military Tribunal

(b) British Military Tribunal

(¢) Allied Military Tribunal

(d) Allied Judicial Court

Question S.

Why did the Nuremburg Tribunal sentence only 11 Nazis to death for such
a massive genocide?

(a) Only these 11 Nazis were found guilty

(b) The Allies did not want to be harsh on the defeated Germany as they
had been after WorldWar

(¢) Germany promised never to repeat such an act

(d) Germany was ready to pay a huge compensation to the Allied countries

for these killings



Question 6.

What was the most important result of the Spartacus League uprising in
Germany in 1918-19?

(a) The Weimar Republic crushed the rebellion

(b) The Spartacists founded the Communist Party of Germany

(¢) The Weimar government accepted the demands of the Spartacus League
(d) Both (a) and (b)

Question 7.

War in 1917 led to the strengthening of Allies and the defeat of Germany
because of entry of

(a) China

(b) Japan

(¢c) the USA

(d) Spain

Question 8

What was ‘Dawes Plan’?

(a) A plan which imposed more fines on Germany

(b) A plan which withdrew all punishment from Germany

(¢) A plan which reworked the terms of reparation to ease financial burden
on the Germans

(d) None



Question 9.

What gave Nazi state its reputation as the most dreaded criminal state?
(a) Extra-constitutional powers were given to the newly organised forces
like Gestapo, the SS and SD

(b) People could be detained in Gestapo torture chambers and sent to
concentration camps

(¢) No legal procedures were there for the arrested people

(d) All the above

Question 10.

What was the slogan coined by Hitler when he followed his aggressive
foreign policy?

(a) Messenger from God

(b) Conquer the world

(¢) One people, one empire, and one leader

(d) we are Aryans, the real rulers

Question 11.

When and among which countries was the Tripartite Pact signed?
(a) 1940, Germany, [taly and Japan

(b) 19349, Germany, Austria and USSR

(¢) 1940, England, France and USA

(d) 1938, England, Germany and USSR



Question 12.

Which incident persuaded the USA to join the war?
(a) Hitler’s attack on Eastern Europe

(b) Hitler's policy of genocide of the Jews

(¢) Helplessness of England and France

(d) Japan’s attack on the US base at Pearl Harbour



Worksheet 1

Subject-History
Class-9
Topic- Nazism and the Rise of Hitler
Choose the correct answer:-

Question 1.

The Treaty of Versailles (1920) signed at the end of World War I, was harsh and humiliating for
Germany, because

(a) Germany lost its overseas colonies, and 13 per cent of its territories

(b) It lost 75% of its iron and 26% of its coal to France, Poland, Denmark and Lithuania, was
forced to paycompensation of 6 billion pounds

(c) The western powers demilitarised Germany and they occupied resource-rich Rhineland in the
1920s

(d) All the above

Answer

Answer: (d) All the above

Question 2.

What was Hitler’s historic blunder and why?

(a) Attack on Soviet Union in 1941 was a historic blunder by Hitler

(b) He exposed his western front to British aerial bombing

(c) The Soviet Red Army inflicted a crushing and humiliating defeat on Germany atStalingrad
(d) All the above

Answer

Answer: (d) All the above

Question 3.

Why did Helmut’s father kill himself in the spring of 1945?

(a) He was depressed by Germany’s defeat in Second World War

(b) He feared that common people would mishandle him and his family



(c) He feared revenge by the Allied Powers
(d) He wanted to die because of the crimes he had committed during Nazi rule

Answer

Answer: (c) He feared revenge by the Allied Powers

Question 4.

Which of the following bodies was set up to try and prosecute the Nazi war criminals at the end
of World War 11?

(a) International Military Tribunal

(b) British Military Tribunal

(c) Allied Military Tribunal

(d) Allied Judicial Court

Answer

Answer: (a) International Military Tribunal

Question 5.

Why did the Nuremburg Tribunal sentence only 11 Nazis to death for such a massive genocide?
() Only these 11 Nazis were found guilty

(b) The Allies did not want to be harsh on the defeated Germany as they had been after
WorldWar

(c) Germany promised never to repeat such an act

(d) Germany was ready to pay a huge compensation to the Allied countries for these killings

Answer

Answer: (b) The Allies did not want to be harsh on the defeated Germany as they had been after
WorldWar

Question 6.
What was the most important result of the Spartacus League uprising in Germany in 1918-19?
(a) The Weimar Republic crushed the rebellion



(b) The Spartacists founded the Communist Party of Germany
(c) The Weimar government accepted the demands of the Spartacus League
(d) Both (a) and (b)

Answer

Answer: (d) Both (a) and (b)

Question 7.

War in 1917 led to the strengthening of Allies and the defeat of Germany because of entry of
(a) China

(b) Japan

(c) the USA

(d) Spain

Answer

Answer: (c) the USA

Question 8.

What was ‘Dawes Plan’?

(@) A plan which imposed more fines on Germany

(b) A plan which withdrew all punishment from Germany

(c) A plan which reworked the terms of reparation to ease financial burden on the Germans
(d) None

Answer

Answer: (c) A plan which reworked the terms of reparation to ease financial burden on the
Germans

Question 9.

What gave Nazi state its reputation as the most dreaded criminal state?

(a) Extra-constitutional powers were given to the newly organised forces like Gestapo, the SS
and SD



(b) People could be detained in Gestapo torture chambers and sent to concentration camps
(c) No legal procedures were there for the arrested people
(d) All the above

Answer

Answer: (d) All the above

Question 10.

What was the slogan coined by Hitler when he followed his aggressive foreign policy?
(a) Messenger from God

(b) Conquer the world

(c) One people, one empire, and one leader

(d) we are Aryans, the real rulers

Answer

Answer: (c) One people, one empire, and one leader

Question 11.

When and among which countries was the Tripartite Pact signed?
(a) 1940, Germany, Italy and Japan

(b) 1939, Germany, Austria and USSR

(c) 1940, England, France and USA

(d) 1938, England, Germany and USSR

Answer

Answer: (a) 1940, Germany, Italy and Japan

Question 12.

Which incident persuaded the USA to join the war?
(a) Hitler’s attack on Eastern Europe

(b) Hitler’s policy of genocide of the Jews



(c) Helplessness of England and France
(d) Japan’s attack on the US base at Pearl Harbour

Answer

Answer: (d) Japan’s attack on the US base at Pearl Harbour



EAST POINT SCHOOL
MATHEMATICS WORKSHEET

QL. Find the surface area of a chalk box whose length, breadth and height are
16cm, 8cm and 6¢cm, respectively.

Q2. Find the surface area of a cube whose edge is 11cm.

Q3. The dimensions of a cuboid are in the ratio 1:2:3 and its total surface area is
88m?. Find the dimensions.

Q4. A swimming pool is 20 m in length, 15m in breadth, and 4 m in depth. Find
the cost of cementing its floor and walls at the rate of Rs12 per square meter.

Q5. The radii of two right circular cylinders are in the ratio 2:3 and their heights
are in the ratio 5:4. Calculate the ratio of their curved surface areas.

Q6. A rectangular sheet of paper 44cmx18cm is rolled along its length and a
cylinder is formed. Find the radius of the cylinder.

Q7. The diameter of a garden roller is 1.4m and it is 2m long. How much area will
it cover in 5 revolutions?

Q8. Find the area of a triangle whose sides are 13cm, 14cm and 15¢m using
heron’s formulae.

Q9.The lengths of the sides of a triangle are 5 cm, 12 cm and 13 cm. find the
length of perpendicular from the opposite vertex to the side whose length is 13cm.

Q10. The perimeter of a triangular field is 450m and its sides are in the ratio
13:12:5. Find the area of the triangle.



EAST POINT SCHOOL
MATHEMATICS WORKHEET (2)

Case study : 1

Mr Kalra Is an architect, designs a structure for a special purpose. The design of the figure is of a

pyramid, each side a triangle.
Q1. Find the area of the hollow triangle shown in the figure with dimensions 12 cm, 5cm and 13 cm.

a) 44 cm?
b) 60cm?
c) 30cm?
d) None of these.

Q2. Find the area of the triangle excluding the rectangular door with dimensions 7cm and 3cm,
dimensions of the triangle are 15cm, 8cm and 17cm.

(a) 29 cm?
(b) 39 cm?
(c) 49 cm?
(d) 59 cm?

Q3 The third unseen triangle of the pyramid has dimensions 11cm, 12cm and 13cm. find the area of the
triangle.

(a)6V105 cm?



(b) 7V/105 cm?

(c) 8105 cm?

(d) 10¢/105 cm?

Q4. | f the base triangle of the pyramid has sides 5cm, 8cm and 11cm. find the semi perimeter.

(a) 10cm
(b) 11cm
(c) 12cm
(d) 13cm

Q5. If the base of the triangular pyramid has each side 10cm. find the area of the base.
(a)25v2 cm?
(b) 25+/3 cm?
(c) 25v/5 cm?

(d) 26+/5 cm?

Case study: 2

Students of EAST POINT SCHOOL take a visit to music company along with their Mathematics teacher
and asked by their teacher to find the different areas and cost of covers for the musical instruments.
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TASK GUIDE
Q1. Whatis the lateral surface area of cuboid?

(a) 2(1+b)
(b) 2h(l +b)



(c) 2h(Ixb)
(d) 2(Ixb)
Q2. If the dimensions of speakers shown in the figure is height 36cm, length 18cm and breadth
18cm then find the total surface area of a speaker.
(a)5840cm?
(b) 2650cm?
(c) 4983cm?
(d)3240cm?

Q3. The dimensions of the battery surmounted on top of one of the speakers is exactly half of the
speaker below it. Find the ratio of their surface areas.

(a) 1:2
(b) 1:3
(c) 1:4
(d) 1:5

Q4. Seema wanted to make a cover for her speaker, by making a box-like structure with tarpaulin that
covers all the four sides and top of the speaker. Assuming that the stitching margins are very small, and
therefore negligible, how much tarpaulin would be required to make the cover of given speaker.

(a) 2916cm?
(b) 2685 cm?
(c) 2564 cm?
(d) 2874 cm?

Q5. Find the cost of tarpaulin of the four side and the top at the rate of Rs. 7.5 per cm?.

(a) Rs. 20564
(b) Rs.21870
(c) Rs.21547
(d) Rs.21684



EAST POINT SCHOOL
CLASS IX PHYSICS
CHAPTER- GRAVITATION 1

Multiple Choice Questions

1. If an object is thrown upwards, it cover equal distance in 4" and 7t" second, then at the end
of which second the object will reach at the top.

(& 4th

(b) 5th

(c) 6th
(d) 7th
Soln:
Answer is (b)
Explanation:

Acceleration of an object depends on acceleration due to gravity irrespective of its mass. Hence
object under free fall have the same velocities.

2. The value of acceleration due to gravity
(a) is same on equator and poles

(b) is least on poles

(c) is least on equator

(d) increases from pole to equator

Soln:

Answer is (C) is least on equator
Explanation:

The value of acceleration due to gravity is least on equator because distance between surface of the
earth and its centre is more on equator than in poles.

3. The gravitational force between two objects is F. If masses of both objects are halved
without changing distance between them, then the gravitational force would become

(a) Fl/4
(b) F/2
(c)F

d)2F

Soln:



Answer is (a) F/4

4. A boy is whirling a stone tied with a string in an horizontal circular path. If the string
breaks, the stone

(a) will continue to move in the circular path

(b) will move along a straight line towards the centre of the circular path

(c) will move along a straight line tangential to the circular path

(d) will move along a straight line perpendicular to the circular path away from the boy
Soln:

Answer is (c) will move along a straight line tangential to the circular path

Explanation:

At any instance of time object in circular motion tend to be in rectilinear motion. Object keeps on
moving due to centripetal force and it moves along a straight line tangential to the circular path when
strings breaks.

5. An object is put one by one in three liquids having different densities. The object floats
with 12 3, and 9 11 7 parts of their volumes outside the liquid surface in liquids of densities
d1, d2 and d3 respectively. Which of the following statement is correct?

(a) d1>d2>d3

(b) d1>d2< d3

(c) d1<d2>d3

(d) di<d2<d3

Soln:

Answer is (d) d1< d2< d3

6. In the relation F = G M m/d2, the quantity G

(a) depends on the value of g at the place of observation
(b) is used only when the earth is one of the two masses
(c) is greatest at the surface of the earth

(d) is universal constant of nature

Soln:

Answer is (d) is universal constant of nature

Explanation:

G is called as Newton’s constant. It is the force of gravity on a body. Value of G is 6.66x 10 Nm2kg?
7. Law of gravitation gives the gravitational force between
(a) the earth and a point mass only

(b) the earth and Sun only

(c) any two bodies having some mass



(d) two charged bodies only

Soln:

Answer is (c) any two bodies having some mass

8. The value of quantity G in the law of gravitation

(a) depends on mass of earth only

(b) depends on radius of earth only

(c) depends on both mass and radius of earth

(d) is independent of mass and radius of the earth

Soln:

Answer is (d) is independent of mass and radius of the earth
Explanation:

G is an universal constant hence it is independent of mass and radius of the earth.

9. Two particles are placed at some distance. If the mass of each of the two particles is
doubled, keeping the distance between them unchanged, the value of gravitational force
between them will be

(a) 14 times

(b) 4 times

(c) 12 times

(d) unchanged

Soln:

Answer is (b) 4 times

10. The atmosphere is held to the earth by
(a) gravity

(b) wind

(c) clouds

(d) earth’s magnetic field
Soln:

Answer is (a) gravity

11. The force of attraction between two unit point masses separated by a unit distance is
called

(a) gravitational potential
(b) acceleration due to gravity
(c) gravitational field

(d) universal gravitational constant



Soln:
Answer is (d) universal gravitational constant
Explanation:

F= G X mlxm2r2
Here point masses are separated by unit distance

Hence ml, m2andr=1

Hence F = G which is a universal constant hence answer is universal gravitational constant
12. The weight of an object at the centre of the earth of radius R is

(a) zero

(b) infinite

(c) Rtimes the weight at the surface of the earth

(d) 1/R2 times the weight at surface of the earth

Soln:

Answer is (a) zero

Multiple Choice Questions

1. Two objects of different masses falling freely near the surface of moon would
(a) have same velocities at any instant

(b) have different accelerations

(c) experience forces of same magnitude

(d) undergo a change in their inertia

Soln:

Answer is (a) have same velocities at any instant

Explanation:

Acceleration of an object depends on acceleration due to gravity irrespective of its mass. Hence
object under free fall have the same velocities.

2. The value of acceleration due to gravity
(a) is same on equator and poles

(b) is least on poles

(c) is least on equator

(d) increases from pole to equator

Soln:

Answer is (c) is least on equator

Explanation:



The value of acceleration due to gravity is least on equator because distance between surface of the
earth and its centre is more on equator than in poles.

3. The gravitational force between two objects is F. If masses of both objects are halved
without changing distance between them, then the gravitational force would become

(a) F/4

(b) F/2

(c)F

(d)2F

Soln:

Answer is (a) F/4

4. A boy is whirling a stone tied with a string in an horizontal circular path. If the string
breaks, the stone

(a) will continue to move in the circular path

(b) will move along a straight line towards the centre of the circular path

(c) will move along a straight line tangential to the circular path

(d) will move along a straight line perpendicular to the circular path away from the boy
Soln:

Answer is (c) will move along a straight line tangential to the circular path

Explanation:

At any instance of time object in circular motion tend to be in rectilinear motion. Object keeps on
moving due to centripetal force and it moves along a straight line tangential to the circular path when
strings breaks.

5. An object is put one by one in three liquids having different densities. The object floats
with 12 3, and 9 11 7 parts of their volumes outside the liquid surface in liquids of densities
d1, d2 and d3 respectively. Which of the following statement is correct?

(a) d1>d2>d3

(b) d1>d2< d3

(c) d1<d2>d3

(d) dil<d2<d3

Soln:

Answer is (d) d1< d2< d3

6. In the relation F = G M m/d2, the quantity G

(a) depends on the value of g at the place of observation
(b) is used only when the earth is one of the two masses
(c) is greatest at the surface of the earth

(d) is universal constant of nature



Soln:

Answer is (d) is universal constant of nature

Explanation:

G is called as Newton’s constant. It is the force of gravity on a body. Value of G is 6.66x 10-** Nm2kg?
7. Law of gravitation gives the gravitational force between

(a) the earth and a point mass only

(b) the earth and Sun only

(c) any two bodies having some mass

(d) two charged bodies only

Soln:

Answer is (c) any two bodies having some mass

8. The value of quantity G in the law of gravitation

(a) depends on mass of earth only

(b) depends on radius of earth only

(c) depends on both mass and radius of earth

(d) is independent of mass and radius of the earth

Soln:

Answer is (d) is independent of mass and radius of the earth

Explanation:

G is an universal constant hence it is independent of mass and radius of the earth.

9. Two particles are placed at some distance. If the mass of each of the two particles is
doubled, keeping the distance between them unchanged, the value of gravitational force
between them will be

(a) 14 times

(b) 4 times

(c) 12 times

(d) unchanged

Soln:

Answer is (b) 4 times

10. The atmosphere is held to the earth by
(a) gravity

(b) wind

(c) clouds

(d) earth’s magnetic field



Soln:
Answer is (a) gravity

11. The force of attraction between two unit point masses separated by a unit distance is
called

(a) gravitational potential

(b) acceleration due to gravity

(c) gravitational field

(d) universal gravitational constant

Soln:

Answer is (d) universal gravitational constant
Explanation:

F= G X mlxm2r2
Here point masses are separated by unit distance

Hence ml, m2andr=1

Hence F = G which is a universal constant hence answer is universal gravitational constant
12. The weight of an object at the centre of the earth of radius R is

(a) zero

(b) infinite

(c) Rtimes the weight at the surface of the earth

(d) 1/R2 times the weight at surface of the earth

Soln:

Answer is (a) zero



EAST POINT SCHOOL
CLASS IX SUBJECT- PHYSICS
CHAPTER- GRAVITATION (WORKSHEET -2)

1. The mass of moon is about 0.012 times that of the earth and its diameter is about 0.25 times
that of earth. The value of G on the moon will be:

(a) Same as that on the earth

(b) About one-fifth of that on the earth

(c) About one-sixth of that on the earth

(d) About one-fourth of that on the earth

Answer: (a) Same as that on the earth

2. An apple falls from a tree because of the gravitational attraction between the earth and the
apple. If F1 is the magnitude of the force exerted by the earth on the apple and F2 is the
magnitude of the force exerted by the apple on the earth, then

(a) F1 is very much greater than F2

(b) F2 is very much greater than F1

(c) F1 and F2 are equal

(d) F1 is only a little greater than F2

Answer: (c) F1 and F2 are equal

3. The earth and the moon are attracted to each other by gravitational force. The earth attracts the
moon with a force that is:

(a) More than that exerted by the moon

(b) Same as that exerted by the moon

(c) Less than that exerted by the moon

(d) Not related to that exerted by the moon

Answer: (b) Same as that exerted by the moon



4. A stone is released from the top of a tower of height 19.6 m. Then its final velocity just before
touching the ground will be:
(a) 384.16 m/ s

(b) 196 m/s
(c) 19.6 m/s
(d) 3841.4 m/s

(Take g = 9.8 m/s?)

Answer: (c) 19.6 m/s

5. When a piece of cork is put into the water it starts floating on the surface of water due to the
upward buoyant force from water.

If the cork is pushed more inside the water by applying the force than the buoyant force:

(a) Will increase as the cork is immersed into the water

(b) Will decrease as the cork is immersed into the water

(c) Will first increase and then decrease as the cork is immersed more into the water

(d) Will remain the same as long as the cork is inside the water

Answer: (a) Will increase as the cork is immersed into the water
6. A rectangular wooden block has the length, breadth and height of 40 cm, 35 cm and 10 cm,
respectively. This wooden block is kept on ground in three different ways, turn by turn.



H

O —

Cuboid

Which of the following is the correct statement about the pressure exerted by this block on the
ground?

(a) The maximum pressure is exerted when the length and breadth form the base
(b) The maximum pressure is exerted when the length and height form the base
(c) The maximum pressure is exerted when the breadth and height form the base
(d) The maximum pressure is exerted when the length and height form the base

Answer: (c) The maximum pressure is exerted when the breadth and height form the base
7. Two particles are placed at some distance. If the mass of each of the two particles is doubled,
keeping the distance between them unchanged, the value of gravitational force between them
will be:

(a) 1/4 times

(b) 4 times
(c) 1/2 times
(d) Unchanged

Answer: (b) 4 times
8. A boy is whirling a stone tied with a string in a horizontal circular path as shown in the
following figure:



If the string breaks the stone:

(a) Will move along a straight line towards the centre of the circular path

(b) Will move along a straight line the tangential to the circular path

(c) Will move along a straight line perpendicular to the circular path away from the boy
(d) Will continue to move in the circular path

Answer: (b) Will move along a straight line the tangential to the circular path
9. Following table represents the mass and volume data of the three liquids named A, B, C and
D. Can you find which two liquids are identical?

Liquid Mass (in g) Volume (in cm?®)
A 80 100
B 100 100
C 80 80
D 100 80
@ AandC
(b) Band C

(c)Aand D



(d) B and D

Answer: (b) Band C

10. A ball weighing 4 kg of density 4000 kgm™ is completely immersed in water of
density10® kgm. What will be the buoyant force acting on it?

(a) 100 N

(b) 10 N
(c) 1600N
(d) 16 N

Answer: (b) 10 N
11. Choose the correct unit for the relative density among the following:
(@) kg/cm

(b) unitless
(c) kg/cm

(d) kg/m?®

Answer: (b) unitless

12. An object having mass equal to 350 g occupies 200 cm?® of the space. When this object is
thrown into a river what will be the condition of this object there? (Density of water = 1 g/ cm?®)
(a) 1t will float on the surface of water

(b) It will float fully submerged in the liquid
(c) 1t will sink in the liquid
(d) It will float partially submerged in the liquid

Answer: (c) It will sink in the liquid



Political science
worksheet 1
Q1 Define the following terms
Democracy
Parliament
Institutions
By- Election
3 marks
Q2 Explain the different types of executive.
Q3 Discuss the powers of Prime Minister.
Q4 Why was the Mandal commission appointed?
Q5 Critically examine democratic form of government.

worksheet 2 5 MARKS
Q1 "Democracy is the best form of government:".Justify the statement by giving suitable
examples.
Q3 Discuss the powers of the Election commision.
Q3 Explain the functions of the Parliament.
Q4 Why is Lok Sabha more powerful than Rajya Sabha?
Q5 Describe the dirty tricks used by PRI to win the elections in Mexico
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